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TB(1B) Ch. 11 Angles related to lines
Conventional Questions
1. [13-14 Standardised Test 2, #5]
In Figure 4, AB // DE, #BAC = 56° and ZACB = /BDE = 36°. Find ZCBD. (3 marks)

Figure 4
2. [13-14 Standardised Test 2, #6]
In Figure 5, ABC, FGH, BDF, CEG and ADEH are straight lines. Z/ADB =/GEH = 24° and ZACG
= /BFH = 110°. A B N

(a) Provethat BF // CG. (2 marks)

(b) Prove that AC// FH. (2 marks)

Figure 5

3. [13-14 Standardised Test 2, #8]
In Figure 7, ABCDEFGHI is a 9-sided polygon.

ABGHlI is a pentagon, BCDEFG is a hexagon and BG // IH.

() Findxandy. (4 marks)
(b) Prove that BC // GF. (2 marks)

Figure 7 F
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4. [13-14 Final Exam, #7]

Figure 3 shows a hexagon ABCDEF. E

1 (]
(a) Finda. (2 marks) ar a5 0)P
(b) Is FE parallel to BC? Explain your answer. 3 . e

marks)

Figure 3

5. [14-15 Standardized Test #4]
In Figure 2, EAC, FAB and BDC are straight lines. It is given that ZABC = 6x, ZACB =4x, /BAD =5x and

ZCAD =3x, find ZEAF. (2 marks)
E F
A
5x 32X
6x 4x
B D C
Figure 2

6. [14-15 Standardized Test #7]
In Figure 4, ZABC = 35° and ZGDE = 145°. CDE and FDG are straight lines and AB//CE.

(@) Prove that BC// FG. (3 marks)

A
(b)  If ADCG is an obtuse-angled triangle, find a set of possible value for c
ZGCD and ZCGD. Explain your answer. (2 marks) . 352 G
D
= 145°
E

7. [14-15 Final Exam #4]
In Figure 1, it is given that AB // DC, £ ADC = 40°, / BAC = 65° and £ ABC = 75°.

Figure 4

AB =4 cmand AC=6cm.

4cm
A
Vv
@ Find £ DAC and £ ACD. (2 marks)
(b) Prove that AADC ~ ABCA. (2 marks) 6 cm
() Find the length of DC. (1 mark) 5 A0° -
> C

Figure 1

B
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8. [14-15 Final Exam #5]

In Figure 2, ABCD is a quadrilateral with AB //DC. DC is produced to E. AC and BD intersect at F. It is
given that L ABF=a+4°, Z/ADF=a, £/ DFC=2a+16° £FCB=46°and £ BCE = 64°.

(a) Find a. (2 marks) A 5
(b) Prove that AD // BC. (2 marks) > R
9. [14-15 Final Exam #6] D > c E
In Figure 3, ABIJK, BCD, CEF and GHI are straight lines. Findaand b.  Figure 2 (4 marks)
A
B c D
B 3b
E
! 3b
60°
J HAD
a G
. K .
10. [15-16 Final Exam, #9] Figure 3
In Figure 4, BCDE is a straight line, £ ABC = 54°, Z CAD A ;
=36° and £ ADF = 54°, It is known that Z ACD = 2 ADC.
(a) Find 2 ADC. (1 mark) 36
(b) Prove that AB // FD. (2 marks)
(c) It is given that AF // BE. Show that AABD = ADFA. 54°
54°
(2 marks) B C D £
Figure 4

https://www.study-together.com/edu/



TB(1B) Ch. 11 Angles related to lines GHS Past Paper Question Bank — Conventional Questions Page 4 of 5

11. [16-17 Final Exam, #10]
In Figure 3, DEC is a straight line and AB // DC. It is given that £/ BAE = 55°, L/ CBE =46°, £BCE=

72°and £ ADE = 62°.

A . B
55°
46°
62° 72°
D > C
Figure 3
(a) Find £ABE and ZAED. (2 marks)
(b) Prove that AABE = AEDA. (2 marks)
(c) Prove that AD // BE. (2 marks)

12.[17-18 Standardised Test 2, 1]
In Figure 1, ABCD and EFG are parallel straight lines, Z/DCF = 115°, Z/BFC = 25°.

(@) Findxandy. (4 marks)
(b) Elaine claims that AD L BF. Do you agree? Explain briefly. (2 marks)
A B > ¢ D
115°
25°
E AY G
£ >
Figure 1

13.[17-18 Standardised Test 2, 5]
In Figure 4, ABC, BHG, CDF, EFG and AHDE are straight lines. ZAHB =ZEDF = 30° and ZBAH = 50°

and ZEGH = 100°.
(@) Prove that AC// EG. (2 marks)

(b) Prove that BG // CF. (2 marks)
A

Figure 4
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14.[17-18 Final Exam, 8]

In Figure 5, ABCD is a quadrilateral. Given that AD // BC, AB = DC and ZA
= /C. Prove that AABD = ACDB.

(2 marks)

Figure 5
15.  [17-18 Final Exam, 9]

(a) In Figure 6, PQ // RS, AEC, DEB, PABQ and RDCS are straight lines. Find a and b. (4 marks)
A a

p » a
2a
b
R [
o > .
Figure 6

(b) In Figure 7, ZACD = 32°, ZKIJ = 148°, ACG, BCDF, EDIK and HIJ are straight lines. It is given that
AG and EK are parallel lines. Prove that BF // HJ. A (2 marks)

E

‘ 3
8 [t .
G/
]
H ]
Figure 7

~End ~
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